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#include <ESP8266WiFi.h> 

#include <WiFiClientSecure.h> 

#include <UniversalTelegramBot.h> 

#include <ArduinoJson.h> 

#include <LiquidCrystal_I2C.h> 

 

#define WIFI_SSID "Admin123" 

#define WIFI_PASSWORD "admin123" 

#define BOT_TOKEN "5556137784:AAFoQoO9YGLvYqOanDKt3vc8mP6x1bQzhjA" 

#define CHAT_ID "6191274645" 

 

X509List cert(TELEGRAM_CERTIFICATE_ROOT); 

WiFiClientSecure secured_client; 

UniversalTelegramBot bot(BOT_TOKEN, secured_client); 

LiquidCrystal_I2C lcd(0x27, 16, 2); 

 

const int trigPin = D6; 

const int echoPin = D7; 

const int buzz = D1; 

long waktu, jarak; 

int lock1 = 0; 

int lock2 = 0; 

int lock3 = 0; 

int surut1 = 0; 

int surut2 = 0; 

int surut3 = 0; 

int i = 0; 

int j = 0; 

int k = 0; 



 

int jaraknotif; 

int tampilan; 

 

void setup() { 

  Serial.begin(115200); 

  pinMode(trigPin, OUTPUT); 

  pinMode(echoPin, INPUT); 

  lcd.init(); 

  lcd.backlight(); 

  lcd.setCursor(0, 0); lcd.print("Standby..."); 

  Serial.println(); 

 

  // attempt to connect to Wifi network: 

  Serial.print("Connecting to Wifi SSID "); 

  Serial.print(WIFI_SSID); 

  WiFi.begin(WIFI_SSID, WIFI_PASSWORD); 

  secured_client.setTrustAnchors(&cert); // Add root certificate for api.telegram.org 

  while (WiFi.status() != WL_CONNECTED) 

  { 

    Serial.print("."); 

    delay(500); 

  } 

  Serial.print("\nWiFi connected. IP address: "); 

  Serial.println(WiFi.localIP()); 

 

  Serial.print("Retrieving time: "); 

 

  configTime(0, 0, "pool.ntp.org"); // get UTC time via NTP 

  time_t now = time(nullptr); 

  while (now < 24 * 3600) 

  { 



 

    Serial.print("."); 

    delay(100); 

    now = time(nullptr); 

  } 

  Serial.println(now); 

} 

 

void loop() { 

  digitalWrite(trigPin, LOW); 

  delayMicroseconds(2); 

  digitalWrite(trigPin, HIGH); 

  delayMicroseconds(10); 

  digitalWrite(trigPin, LOW); 

  waktu = pulseIn(echoPin, HIGH); 

  jarak = waktu / 58.2; 

  jaraknotif = 25 - jarak; 

  //tampilan = 20 - jarak; 

  delay(300); 

 

  lcd.setCursor(0, 0); lcd.print(" Tinggi banjir  "); 

  lcd.setCursor(0, 1); lcd.print("     "); lcd.print(jaraknotif); lcd.print(" Cm"); 

lcd.print("      "); 

 

  if ( jarak > 20) { 

    digitalWrite(buzz, LOW); 

    surut1 = 0; 

    surut2 = 0; 

    surut3 = 0; 

    lock1 = 0; 

    lock2 = 0; 

    lock3 = 0; 



 

    i = 0; 

    j = 0; 

    k = 0; 

  } 

  if ( jarak <= 20 && jarak > 15 ) { 

    //bot.sendMessage(CHAT_ID, "Siaga!, Banjir Terdeteksi", ""); 

    String siaga = "Siaga! --> "; 

    siaga += "Banjir terdeteksi \n"; 

    siaga += "Ketinggian banjir : "; 

    siaga += int(jaraknotif); 

    siaga += " Cm"; 

    bot.sendMessage(CHAT_ID, siaga, ""); 

    lock1 = 1; 

    surut1 = 1; 

  } 

  if ( jarak <= 15 && jarak > 10 ) { 

    String waspada = "Waspada!! --> "; 

    waspada += "Banjir terdeteksi \n"; 

    waspada += "Ketinggian banjir : "; 

    waspada += int(jaraknotif); 

    waspada += " Cm"; 

    bot.sendMessage(CHAT_ID, waspada, ""); 

    lock2 = 1; 

    lock1 = 0; 

    surut2 = 1; 

  } 

  if ( jarak <= 10 ) { 

    String bahaya = "Bahaya!!! --> "; 

    bahaya += "Banjir terdeteksi \n"; 

    bahaya += "Ketinggian banjir : "; 

    bahaya += int(jaraknotif); 



 

    bahaya += " Cm"; 

    bot.sendMessage(CHAT_ID, bahaya, ""); 

    lock3 = 1; 

    lock2 = 0; 

    surut3 = 1; 

  } 

  if (lock1 == 1 && surut1 == 1 ) { 

    i++; 

//    String siaga = "Siaga! --> "; 

//    siaga += "Banjir terdeteksi \n"; 

//    siaga += "Ketinggian banjir : "; 

//    siaga += int(jaraknotif); 

//    siaga += " Cm"; 

//    bot.sendMessage(CHAT_ID, siaga, ""); 

    lock1 = 0; 

    Serial.println("siaga"); 

  } 

  if (lock2 == 1 && surut2 == 1 ) { 

    j++; 

//    String waspada = "Waspada!! --> "; 

//    waspada += "Banjir terdeteksi \n"; 

//    waspada += "Ketinggian banjir : "; 

//    waspada += int(jaraknotif); 

//    waspada += " Cm"; 

//    bot.sendMessage(CHAT_ID, waspada, ""); 

    lock2 = 0; 

    Serial.println("waspada"); 

 

  } 

  if (lock3 == 1 && surut3 == 1 ) { 

    k++; 



 

//    String bahaya = "Bahaya!!! --> "; 

//    bahaya += "Banjir terdeteksi \n"; 

//    bahaya += "Ketinggian banjir : "; 

//    bahaya += int(jaraknotif); 

//    bahaya += " Cm"; 

//    bot.sendMessage(CHAT_ID, bahaya, ""); 

    lock3 = 0; 

    Serial.println("bahaya"); 

  } 

 

  //  if ( i >= 20) { 

  //    String siaga = "Siaga! --> "; 

  //    siaga += "Banjir terdeteksi \n"; 

  //    siaga += "Ketinggian banjir : "; 

  //    siaga += (jaraknotif); 

  //    siaga += " Cm"; 

  //    bot.sendMessage(CHAT_ID, siaga, ""); 

  //    lock1 = 0; 

  //    i = 0; 

  //  } 

  //  if ( j >= 20) { 

  //    String waspada = "Waspada!! --> "; 

  //    waspada += "Banjir terdeteksi \n"; 

  //    waspada += "Ketinggian banjir : "; 

  //    waspada += (jaraknotif); 

  //    waspada += " Cm"; 

  //    bot.sendMessage(CHAT_ID, waspada, ""); 

  //    j = 0; 

  //    lock2 = 0; 

  //  } 

  //  if ( k >= 20) { 



 

  //    String bahaya = "Bahaya!!! --> "; 

  //    bahaya += "Banjir terdeteksi \n"; 

  //    bahaya += "Ketinggian banjir : "; 

  //    bahaya += (jaraknotif); 

  //    bahaya += " Cm"; 

  //    bot.sendMessage(CHAT_ID, bahaya, ""); 

  //    k = 0; 

  //    lock3 = 0; 

  //  } 

  // 

  //  else { 

  //    jaraknotif = 20 - jarak; 

  //  } 

 

  Serial.print(lock1); Serial.print(" || "); 

  Serial.print(lock2); Serial.print(" || "); 

  Serial.print(lock3); Serial.print(" || "); 

  Serial.print(i); Serial.print(" || "); 

  Serial.print(j); Serial.print(" || "); 

  Serial.print(k); Serial.print(" || "); 

  Serial.print(jaraknotif); Serial.print(" || "); 

  Serial.println(jarak); 

} 

 

 

 

 

 

 

 

 



 

 



 

 

 

 



 

 

 



 

 



 

 



 

 



 

 



 
 



 

 



 
 



 

 



 

 


